

SOME LIMITS OF SEQUENCES OF BĂTINEȚU AND LALESCU TYPE

D.M. BĂTINEȚU-GIURGIU, MIHÁLY BENCZE, DANIEL SITARU, NECULAI STANCIU

ABSTRACT. In this paper we present some limits of Bătinețu and Lalescu sequences.

Problem 1.

If $(a_n)_{n \geq 1}$ is a positive real sequence such that

$$\lim_{n \rightarrow \infty} \frac{a_n}{n} = a \in \mathbb{R}_+^* \text{ and } \lim_{n \rightarrow \infty} \left(\frac{a_{n+1}}{a_n} \right)^n = b \in \mathbb{R}_+^*, \text{ then } \lim_{n \rightarrow \infty} (a_{n+1} - a_n) = a \ln b$$

Proof. We have

$$\lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n} = \lim_{n \rightarrow \infty} \frac{a_{n+1}}{n+1} \cdot \frac{n}{a_n} \cdot \frac{n+1}{n} = a \cdot \frac{1}{a} \cdot 1 = 1$$

We denote $u_n = \frac{a_{n+1}}{a_n}$ and $a_{n+1} - a_n = a_n \left(\frac{a_{n+1}}{a_n} - 1 \right) = a_n(u_n - 1) = a_n \cdot \frac{u_n - 1}{\ln u_n} \cdot \ln u_n =$

$$(1) \quad = \frac{a_n}{n} \cdot \frac{u_n - 1}{\ln u_n} \cdot \ln u_n^n, \forall n \in \mathbb{N}^*$$

$$(2) \quad \text{We have } \lim_{n \rightarrow \infty} u_n = 1, \text{ so } \lim_{n \rightarrow \infty} \frac{u_n - 1}{\ln u_n} = 1; \lim_{n \rightarrow \infty} u_n^n = \lim_{n \rightarrow \infty} \left(\frac{a_{n+1}}{a_n} \right)^n = b$$

From (1) and (2) we obtain $\lim_{n \rightarrow \infty} (a_{n+1} - a_n) = a \cdot 1 \cdot \ln b = a \ln b$

Example.

If $a_n = \sqrt[n]{n!}$, then $\lim_{n \rightarrow \infty} \frac{a_n}{n} = \frac{1}{e}$, $\lim_{n \rightarrow \infty} \left(\frac{a_{n+1}}{a_n} \right)^n = e$ and

$$\lim_{n \rightarrow \infty} \left(\sqrt[n+1]{(n+1)!} - \sqrt[n]{n!} \right) = \frac{1}{e} \ln e = \frac{1}{e}, \text{ i.e. Traian Lalescu limit}$$

□

Problem 2.

If $(a_n)_{n \geq 1}$ and $(b_n)_{n \geq 1}$ are positive real sequence such that

$$\lim_{n \rightarrow \infty} \frac{a_{n+1} - a_n}{n} = a \in \mathbb{R}_+^* \text{ and } \lim_{n \rightarrow \infty} \frac{b_{n+1}}{nb_n} = b \in \mathbb{R}_+^*, \text{ then } \lim_{n \rightarrow \infty} \left(\frac{a_{n+1}}{\sqrt[n+1]{b_{n+1}}} - \frac{a_n}{\sqrt[n]{b_n}} \right) = \frac{ae}{2b}$$

Proof. We have

$$\lim_{n \rightarrow \infty} \frac{n}{\sqrt[n]{b_n}} = \lim_{n \rightarrow \infty} \sqrt[n]{\frac{n^n}{b_n}} = \lim_{n \rightarrow \infty} \frac{(n+1)^{n+1}}{b_{n+1}} \cdot \frac{b_n}{n^n} = \lim_{n \rightarrow \infty} \left(\frac{n+1}{n} \right)^{n+1} \frac{b_n n}{b_{n+1}} = \frac{e}{b}$$

$$\lim_{n \rightarrow \infty} \frac{a_n}{n^2} = \lim_{n \rightarrow \infty} \frac{a_{n+1} - a_n}{(n+1)^2 - n^2} = \lim_{n \rightarrow \infty} \frac{a_{n+1} - a_n}{n} \cdot \frac{n}{2n+1} = \frac{a}{2}$$

$$\begin{aligned}
\frac{a_{n+1}}{\sqrt[n+1]{b_{n+1}}} - \frac{a_n}{\sqrt[n]{b_n}} &= \frac{a_n}{\sqrt[n]{b_n}}(u_n - 1) = \frac{a_n}{\sqrt[n]{b_n}} \cdot \frac{u_n - 1}{\ln u_n} \cdot \ln u_n = \frac{a_n}{n \sqrt[n]{b_n}} \cdot \frac{u_n - 1}{\ln u_n} \cdot \ln u_n^n = \\
&= \frac{a_n}{n^2} \cdot \frac{n}{\sqrt[n]{b_n}} \cdot \frac{u_n - 1}{\ln u_n} \cdot \ln u_n^n; \text{ where we denote } u_n = \frac{a_{n+1}}{\sqrt[n+1]{b_{n+1}}} \cdot \frac{\sqrt[n]{b_n}}{a_n} = \\
&= \frac{a_{n+1}}{(n+1)^2} \cdot \frac{n^2}{a_n} \cdot \frac{n+1}{\sqrt[n+1]{b_{n+1}}} \cdot \frac{\sqrt[n]{b_n}}{n} \cdot \frac{n+1}{n} \\
\text{Therefore, } \lim_{n \rightarrow \infty} u_n &= \frac{a}{2} \cdot \frac{2}{a} \cdot \frac{e}{b} \cdot \frac{b}{e} \cdot 1 = 1, \text{ so } \lim_{n \rightarrow \infty} \frac{u_n - 1}{\ln u_n} = 1, \\
\lim_{n \rightarrow \infty} u_n^n &= \lim_{n \rightarrow \infty} \left(\frac{a_{n+1}}{a_n} \right)^n \frac{b_n}{b_{n+1}} \sqrt[n+1]{b_{n+1}} = \\
&= \lim_{n \rightarrow \infty} \left(\frac{b_n n}{b_{n+1}} \cdot \frac{\sqrt[n+1]{b_{n+1}}}{n+1} \cdot \frac{n+1}{n} \cdot \left(\frac{a_{n+1}}{a_n} \right)^n \right) = \\
&= \frac{1}{b} \cdot \frac{b}{e} \cdot 1 \cdot \lim_{n \rightarrow \infty} \left(\left(1 + \frac{a_{n+1} - a_n}{a_n} \right)^{\frac{a_n}{a_{n+1} - a_n}} \right)^{\frac{a_{n+1} - a_n}{n} \cdot \frac{n^2}{a_n}} = \\
&= \frac{1}{e} \cdot e^{\frac{2}{a}} = e. \text{ Hence, } \lim_{n \rightarrow \infty} \left(\frac{a_{n+1}}{\sqrt[n+1]{b_{n+1}}} - \frac{a_n}{\sqrt[n]{b_n}} \right) = \frac{a}{2} \cdot \frac{e}{b} \cdot 1 \cdot \ln e = \frac{ae}{2b}
\end{aligned}$$

□

Problem 3.

$$\lim_{n \rightarrow \infty} \sqrt[n]{n!} \left(\frac{\sqrt[n+1]{(n+1)!}}{n+1} - \frac{\sqrt[n]{n!}}{n} \right) = 0$$

Proof.

$$\text{It is well-known that } \lim_{n \rightarrow \infty} \frac{\sqrt[n]{n!}}{n} = \frac{1}{e}$$

If we denote $u_n = \frac{\sqrt[n+1]{(n+1)!}}{\sqrt[n]{n!}} \left(\frac{n}{n+1} \right)$, then $\lim_{n \rightarrow \infty} u_n = 1$, $\lim_{n \rightarrow \infty} \frac{u_n - 1}{\ln u_n} = 1$ and

$$\lim_{n \rightarrow \infty} u_n^n = \lim_{n \rightarrow \infty} \frac{(n+1)!}{n!} \left(\frac{n}{n+1} \right)^n \frac{n+1}{\sqrt[n+1]{(n+1)!}} = \frac{1}{e} \lim_{n \rightarrow \infty} \frac{n+1}{\sqrt[n+1]{(n+1)!}} = \frac{1}{e} \cdot e = 1$$

Hence,

$$\lim_{n \rightarrow \infty} \sqrt[n]{n!} \left(\frac{\sqrt[n+1]{(n+1)!}}{n+1} - \frac{\sqrt[n]{n!}}{n} \right) = \lim_{n \rightarrow \infty} \left(\frac{\sqrt[n]{n!}}{n} \right)^2 \cdot \frac{u_n - 1}{\ln u_n} \cdot \ln u_n^n = \frac{1}{e^2} \cdot 1 \cdot \ln 1 = 0$$

□

Problem 4.

$$\lim_{n \rightarrow \infty} \sqrt[n]{(2n-1)!!} \left(\frac{\sqrt[n+1]{(n+1)!}}{(n+1)^2} - \frac{\sqrt[n]{n!}}{n^2} \right) = -\frac{4}{e^3}$$

Proof.

$$\text{If it's well-known that } \lim_{n \rightarrow \infty} \frac{\sqrt[n]{n!}}{n} = \frac{1}{e} \text{ and respectively } \lim_{n \rightarrow \infty} \frac{\sqrt[n]{(2n-1)!}}{n} = \frac{2}{e}$$

If we denote $u_n = \frac{\sqrt[n+1]{(n+1)!}}{\sqrt[n]{n!}} \left(\frac{n}{n+1} \right)^2$, we denote $\lim_{n \rightarrow \infty} u_n = 1$, $\lim_{n \rightarrow \infty} \frac{u_n - 1}{\ln u_n} = 1$ and

$$\lim_{n \rightarrow \infty} u_n^n = \lim_{n \rightarrow \infty} \frac{(n+1)!}{n!} \left(\frac{n}{n+1} \right)^{2n} \frac{1}{\sqrt[n+1]{(n+1)!}} = \frac{1}{e^2} \lim_{n \rightarrow \infty} \frac{n+1}{\sqrt[n+1]{(n+1)!}} = \frac{1}{e}$$

$$\begin{aligned}
& \text{Hence, } \lim_{n \rightarrow \infty} \sqrt[n]{(2n-1)!!} \left(\frac{\sqrt[n+1]{(n+1)!}}{(n+1)^2} - \frac{\sqrt[n]{n!}}{n^2} \right) = \\
& = \lim_{n \rightarrow \infty} \left(\frac{\sqrt[n]{(2n-1)!!}}{n} \right)^2 \frac{\sqrt[n]{n!}}{n} \cdot \frac{u_n - 1}{\ln u_n} \cdot \ln u_n^n = \frac{4}{e^2} \cdot \frac{1}{e} \cdot 1 \cdot \ln \left(\frac{1}{e} \right) = -\frac{4}{e^3}
\end{aligned}$$

□

Problem 5.

If $(a_n)_{n \geq 1}$ is a positive real sequence such that

$$\lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n \sqrt[n]{n!}} = a \in \mathbb{R}_+^*, \text{ then } \lim_{n \rightarrow \infty} (\sqrt[n+1]{a_{n+1}} - \sqrt[n]{a_n}) = \frac{a}{e^2}$$

Proof.

$$\begin{aligned}
\lim_{n \rightarrow \infty} \frac{\sqrt[n]{a_n}}{n} &= \lim_{n \rightarrow \infty} \sqrt[n]{\frac{a_n}{n^n}} \stackrel{\text{C-D'A}}{=} \lim_{n \rightarrow \infty} \frac{a_{n+1}}{(n+1)^n} \cdot \frac{n^n}{a_n} = \lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n \sqrt[n]{n!}} \cdot \left(\frac{n}{n+1} \right)^{n+1} \cdot \frac{\sqrt[n]{n!}}{n} = \\
&= \lim_{n \rightarrow \infty} \frac{a}{e} \sqrt[n]{\frac{n!}{n^n}} \stackrel{\text{C-D'A}}{=} \frac{a}{e} \lim_{n \rightarrow \infty} \frac{(n+1)!}{(n+1)^{n+1}} \cdot \frac{n^n}{n!} = \frac{a}{e} \lim_{n \rightarrow \infty} \left(\frac{n}{n+1} \right)^n = \frac{a}{e^2} \\
\sqrt[n+1]{a_{n+1}} - \sqrt[n]{a_n} &= \sqrt[n]{a_n} \cdot (u_n - 1) = \frac{\sqrt[n]{a_n}}{n} \cdot \frac{u_n - 1}{\ln u_n} \cdot \ln u_n^n, \text{ where} \\
u_n &= \frac{\sqrt[n+1]{a_{n+1}}}{\sqrt[n]{a_n}} = \frac{\sqrt[n+1]{a_{n+1}}}{n+1} \cdot \frac{n+1}{n} \cdot \frac{n}{\sqrt[n]{a_n}}, \forall n \geq 2 \\
\lim_{n \rightarrow \infty} u_n &= 1, \lim_{n \rightarrow \infty} \frac{u_n - 1}{\ln u_n} = 1, \lim_{n \rightarrow \infty} u_n^n = \lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n} \cdot \frac{1}{\sqrt[n+1]{a_{n+1}}} = \\
&= \lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n \sqrt[n]{n!}} \cdot \frac{n+1}{\sqrt[n+1]{a_{n+1}}} \cdot \frac{n}{n+1} \cdot \frac{\sqrt[n]{n!}}{n} = a \cdot \frac{e^2}{a} \cdot 1 \cdot \frac{1}{e} = e \\
&\text{Hence, } \lim_{n \rightarrow \infty} (\sqrt[n+1]{a_{n+1}} - \sqrt[n]{a_n}) = \frac{a}{e^2} \cdot 1 \cdot \ln e = \frac{a}{e^2}
\end{aligned}$$

□

Problem 6.

If $(a_n)_{n \geq 1}$ is a positive real sequence such that

$$\lim_{n \rightarrow \infty} \frac{a_{n+1}}{na_n \sqrt[n]{n!}} = a \in \mathbb{R}_+^*, \text{ then } \lim_{n \rightarrow \infty} \frac{1}{n} (\sqrt[n+1]{a_{n+1}} - \sqrt[n]{a_n}) = \frac{2a}{e^3}$$

Proof.

$$\begin{aligned}
\lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n n^2} &= \lim_{n \rightarrow \infty} \frac{a_{n+1}}{na_n \sqrt[n]{n!}} \cdot \frac{\sqrt[n]{n!}}{n} = a \lim_{n \rightarrow \infty} \frac{\sqrt[n]{n!}}{n} = \frac{a}{e} \\
\lim_{n \rightarrow \infty} \frac{\sqrt[n]{a_n}}{n^2} &= \lim_{n \rightarrow \infty} \sqrt[n]{\frac{a_n}{n^{2n}}} \stackrel{\text{C-D'A}}{=} \lim_{n \rightarrow \infty} \frac{a_{n+1}}{(n+1)^{2(n+1)}} \cdot \frac{n^{2n}}{a_n} = \lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n n^2} \cdot \left(\frac{n}{n+1} \right)^{2n+2} = \\
&= \frac{a}{e} \cdot \frac{1}{e^2} = \frac{a}{e^3} \\
\frac{1}{n} (\sqrt[n+1]{a_{n+1}} - \sqrt[n]{a_n}) &= \frac{\sqrt[n]{a_n}}{n} \cdot (u_n - 1) = \frac{\sqrt[n]{a_n}}{n^2} \cdot \frac{u_n - 1}{\ln u_n} \cdot \ln u_n^n, \text{ where} \\
u_n &= \frac{\sqrt[n+1]{a_{n+1}}}{\sqrt[n]{a_n}} = \frac{\sqrt[n+1]{a_{n+1}}}{(n+1)^2} \cdot \frac{(n+1)^2}{n^2} \cdot \frac{n^2}{\sqrt[n]{a_n}}, \forall n \geq 2 \\
\lim_{n \rightarrow \infty} u_n &= 1, \lim_{n \rightarrow \infty} \frac{u_n - 1}{\ln u_n} = 1, \lim_{n \rightarrow \infty} u_n^n = \lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n} \cdot \frac{1}{\sqrt[n+1]{a_{n+1}}} =
\end{aligned}$$

$$= \lim_{n \rightarrow \infty} \frac{a_{n+1}}{n^2 a_n} \cdot \frac{(n+1)^2}{n^{+1} \sqrt[n+1]{a_{n+1}}} \cdot \left(\frac{n}{n+1} \right)^2 = \frac{a}{e} \cdot \frac{e^3}{a} \cdot 1 = e^2$$

$$\text{Hence, } \lim_{n \rightarrow \infty} \frac{1}{n} (n^{+1} \sqrt[n+1]{a_{n+1}} - \sqrt[n]{a_n}) = \frac{a}{e^3} \cdot 1 \cdot \ln e^2 = \frac{2a}{e^3}$$

□

Problem 7.

If $(a_n)_{n \geq 1}$ is a positive real sequence such that:

$$\lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n \sqrt[n]{n!}} = a \in \mathbb{R}_+^* \text{ and } x_n = a_1 \cdot \sqrt{a_2} \cdot \sqrt[3]{a_3} \cdot \dots \cdot \sqrt[n]{a_n}, \text{ then } \lim_{n \rightarrow \infty} \frac{\sqrt[n]{x_n}}{n} = \frac{a}{e^3}$$

Proof.

$$\begin{aligned} \lim_{n \rightarrow \infty} \frac{\sqrt[n]{x_n}}{n} &= \lim_{n \rightarrow \infty} \sqrt[n]{\frac{x_n}{n^n}} \stackrel{\text{C-D'A}}{=} \lim_{n \rightarrow \infty} \frac{x_{n+1}}{(n+1)^n} \cdot \frac{n^n}{x_n} = \lim_{n \rightarrow \infty} \frac{n^{+1} \sqrt[n+1]{a_{n+1}}}{n+1} \left(\frac{n}{n+1} \right)^n = \\ &= \frac{1}{e} \lim_{n \rightarrow \infty} \frac{\sqrt[n]{a_n}}{n} = \frac{1}{e} \lim_{n \rightarrow \infty} \sqrt[n]{\frac{a_n}{n^n}} \stackrel{\text{C-D'A}}{=} \frac{1}{e} \lim_{n \rightarrow \infty} \frac{a_{n+1}}{(n+1)^n} \cdot \frac{n^n}{a_n} = \\ &= \frac{1}{e} \lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n \sqrt[n]{n!}} \left(\frac{n}{n+1} \right)^{n+1} \frac{\sqrt[n]{n!}}{n} = \\ &= \frac{1}{e} \cdot \frac{a}{e} \lim_{n \rightarrow \infty} \sqrt[n]{\frac{n!}{n^n}} \stackrel{\text{C-D'A}}{=} \frac{a}{e^2} \lim_{n \rightarrow \infty} \frac{(n+1)!}{(n+1)^{n+1}} \cdot \frac{n^n}{n!} = \frac{a}{e^2} \cdot \frac{1}{e} = \frac{a}{e^3} \end{aligned}$$

□

Problem 8.

If $(a_n)_{n \geq 1}$ is a positive real sequence such that

$$\lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n \sqrt[n]{(2n-1)!!}} = a \in \mathbb{R}_+^* \text{ then } \lim_{n \rightarrow \infty} (n^{+1} \sqrt[n+1]{a_{n+1}} - \sqrt[n]{a_n}) = \frac{2a}{e^2}$$

Proof.

$$\begin{aligned} \lim_{n \rightarrow \infty} \frac{\sqrt[n]{a_n}}{n} &= \lim_{n \rightarrow \infty} \sqrt[n]{\frac{a_n}{n^n}} \stackrel{\text{C-D'A}}{=} \lim_{n \rightarrow \infty} \frac{a_{n+1}}{(n+1)^n} \cdot \frac{n^n}{a_n} = \\ &= \lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n \sqrt[n]{(2n-1)!!}} \cdot \left(\frac{n}{n+1} \right)^{n+1} \cdot \frac{\sqrt[n]{(2n-1)!!}}{n} = \\ &= \lim_{n \rightarrow \infty} \frac{a}{e} \sqrt[n]{\frac{(2n-1)!!}{n^n}} \stackrel{\text{C-D'A}}{=} \frac{a}{e} \lim_{n \rightarrow \infty} \frac{(2n+1)!!}{(n+1)^{n+1}} \cdot \frac{n^n}{(2n-1)!!} = \frac{a}{e} \lim_{n \rightarrow \infty} \frac{2n+1}{n+1} \left(\frac{n}{n+1} \right)^n = \frac{2a}{e^2} \\ n^{+1} \sqrt[n+1]{a_{n+1}} - \sqrt[n]{a_n} &= \sqrt[n]{a_n} \cdot (u_n - 1) = \frac{\sqrt[n]{a_n}}{n} \cdot \frac{u_n - 1}{\ln u_n} \cdot \ln u_n^n, \text{ where} \\ u_n &= \frac{n^{+1} \sqrt[n+1]{a_{n+1}}}{\sqrt[n]{a_n}} = \frac{n^{+1} \sqrt[n+1]{a_{n+1}}}{n+1} \cdot \frac{n+1}{n} \cdot \frac{n}{\sqrt[n]{a_n}}, \forall n \geq 2 \\ \lim_{n \rightarrow \infty} u_n &= 1, \lim_{n \rightarrow \infty} \frac{u_n - 1}{\ln u_n} = 1, \\ \lim_{n \rightarrow \infty} u_n^n &= \lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n} \cdot \frac{1}{n^{+1} \sqrt[n+1]{a_{n+1}}} = \lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n \sqrt[n]{(2n-1)!!}} \cdot \frac{n+1}{n^{+1} \sqrt[n+1]{a_{n+1}}} \cdot \frac{n}{n+1} \cdot \frac{\sqrt[n]{(2n-1)!!}}{n} = \\ &= a \cdot \frac{e^2}{2a} \cdot 1 \cdot \lim_{n \rightarrow \infty} \frac{\sqrt[n]{(2n-1)!!}}{n} = \frac{e^2}{2} \lim_{n \rightarrow \infty} \sqrt[n]{\frac{(2n-1)!!}{n^n}} \stackrel{\text{C-D'A}}{=} \end{aligned}$$

$$\begin{aligned}
&= \frac{e^2}{2} \lim_{n \rightarrow \infty} \frac{(2n+1)!!}{(n+1)^{n+1}} \cdot \frac{n^n}{(2n-1)!!} = \\
&= \frac{e^2}{2} \lim_{n \rightarrow \infty} \frac{2n+1}{n+1} \cdot \left(\frac{n}{n+1}\right)^n = \frac{e^2}{2} \cdot \frac{1}{e} = e.
\end{aligned}$$

Hence, $\lim_{n \rightarrow \infty} ({}^{n+1}\sqrt{a_{n+1}} - \sqrt[n]{a_n}) = \frac{2a}{e^2} \cdot 1 \cdot \ln e = \frac{2a}{e^2}$

□

Problem 9.

If $(a_n)_{n \geq 1}$ is a positive real sequence such that

$$\lim_{n \rightarrow \infty} \frac{a_{n+1}}{na_n \sqrt[n]{(2n-1)!!}} = a \in \mathbb{R}_+^* \text{ then } \lim_{n \rightarrow \infty} \frac{1}{n} ({}^{n+1}\sqrt{a_{n+1}} - \sqrt[n]{a_n}) = \frac{4a}{e^3}$$

Proof.

$$\begin{aligned}
\lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n n^2} &= \lim_{n \rightarrow \infty} \frac{a_{n+1}}{na_n \sqrt[n]{(2n-1)!!}} \cdot \frac{\sqrt[n]{(2n-1)!!}}{n} = a \lim_{n \rightarrow \infty} \frac{\sqrt[n]{(2n-1)!!}}{n} = \\
&= a \lim_{n \rightarrow \infty} \sqrt[n]{\frac{(2n-1)!!}{n^n}} \stackrel{\text{C-D'A}}{=} a \lim_{n \rightarrow \infty} \frac{(2n+1)!!}{(2n-1)!!} \cdot \frac{n^n}{(n+1)^{n+1}} = a \lim_{n \rightarrow \infty} \frac{2n+1}{n+1} \left(\frac{n}{n+1}\right)^n = \frac{2a}{e} \\
\lim_{n \rightarrow \infty} \frac{\sqrt[n]{a_n}}{n^2} &= \lim_{n \rightarrow \infty} \sqrt[n]{\frac{a_n}{n^{2n}}} \stackrel{\text{C-D'A}}{=} \lim_{n \rightarrow \infty} \frac{a_{n+1}}{(n+1)^{2(n+1)}} \cdot \frac{n^{2n}}{a_n} = \\
&= \lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n n^2} \cdot \left(\frac{n}{n+1}\right)^{2n+2} = \frac{2a}{e} \cdot \frac{1}{e^2} = \frac{2a}{e^3} \\
\frac{1}{n} ({}^{n+1}\sqrt{a_{n+1}} - \sqrt[n]{a_n}) &= \frac{\sqrt[n]{a_n}}{n} \cdot (u_n - 1) = \frac{\sqrt[n]{a_n}}{n^2} \cdot \frac{u_n - 1}{\ln u_n} \cdot \ln u_n^n, \text{ where} \\
u_n &= \frac{{}^{n+1}\sqrt{a_{n+1}}}{\sqrt[n]{a_n}} = \frac{{}^{n+1}\sqrt{a_{n+1}}}{(n+1)^2} \cdot \frac{(n+1)^2}{n^2} \cdot \frac{n^2}{\sqrt[n]{a_n}}, \forall n \geq 2 \\
\lim_{n \rightarrow \infty} u_n &= 1, \lim_{n \rightarrow \infty} \frac{u_n - 1}{\ln u_n} = 1, \lim_{n \rightarrow \infty} u_n^n = \lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n} \cdot \frac{1}{{}^{n+1}\sqrt{a_{n+1}}} = \\
&= \lim_{n \rightarrow \infty} \frac{a_{n+1}}{n^2 a_n} \cdot \frac{(n+1)^2}{{}^{n+1}\sqrt{a_{n+1}}} \cdot \left(\frac{n}{n+1}\right)^2 = \frac{2a}{e} \cdot \frac{e^3}{2a} \cdot 1 = e^2 \\
\text{Hence, } \lim_{n \rightarrow \infty} \frac{1}{n} ({}^{n+1}\sqrt{a_{n+1}} - \sqrt[n]{a_n}) &= \frac{2a}{e^3} \cdot 1 \cdot \ln e^2 = \frac{4a}{e^3}
\end{aligned}$$

□

Problem 10.

If $(a_n)_{n \geq 1}$ is a positive real sequence such that

$$\lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n \sqrt[n]{(2n-1)!!}} = a \in \mathbb{R}_+^* \text{ then } \lim_{n \rightarrow \infty} \left(\frac{(n+1)^2}{{}^{n+1}\sqrt{a_{n+1}}} - \frac{n^2}{\sqrt[n]{a_n}} \right) = \frac{e^2}{2a}$$

Proof.

$$\begin{aligned}
\lim_{n \rightarrow \infty} \frac{\sqrt[n]{a_n}}{n} &= \lim_{n \rightarrow \infty} \sqrt[n]{\frac{a_n}{n^n}} \stackrel{\text{C-D'A}}{=} \lim_{n \rightarrow \infty} \frac{a_{n+1}}{(n+1)^n} \cdot \frac{n^n}{a_n} = \\
&= \lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n \sqrt[n]{(2n-1)!!}} \cdot \left(\frac{n}{n+1}\right)^{n+1} \cdot \frac{\sqrt[n]{(2n-1)!!}}{n} = \\
&= \lim_{n \rightarrow \infty} \frac{a}{e} \sqrt[n]{\frac{(2n-1)!!}{n^n}} \stackrel{\text{C-D'A}}{=} \frac{a}{e} \lim_{n \rightarrow \infty} \frac{(2n+1)!!}{(n+1)^{n+1}} \cdot \frac{n^n}{(2n-1)!!} =
\end{aligned}$$

$$\begin{aligned}
&= \frac{a}{e} \lim_{n \rightarrow \infty} \frac{2n+1}{n+1} \left(\frac{n}{n+1} \right)^n = \frac{2a}{e^2} \\
\left(\frac{(n+1)^2}{\sqrt[n+1]{a_{n+1}}} - \frac{n^2}{\sqrt[n]{a_n}} \right) &= \frac{n^2}{\sqrt[n]{a_n}} (u_n - 1) = \frac{n^2}{\sqrt[n]{a_n}} \cdot \frac{u_n - 1}{\ln u_n} = \frac{n}{\sqrt[n]{a_n}} \cdot \frac{u_n - 1}{\ln u_n} \cdot \ln u_n^n \\
\text{where } u_n &= \left(\frac{n+1}{n} \right)^2 \cdot \frac{\sqrt[n]{a_n}}{\sqrt[n+1]{a_{n+1}}}, \forall n \geq 2; \lim_{n \rightarrow \infty} u_n = 1, \lim_{n \rightarrow \infty} \frac{u_n - 1}{\ln u_n} = 1 \\
\lim_{n \rightarrow \infty} u_n^n &= \lim_{n \rightarrow \infty} \left(\frac{n+1}{n} \right)^{2n} \cdot \frac{a_n}{a_{n+1}} \cdot \sqrt[n+1]{a_{n+1}} = e^2 \lim_{n \rightarrow \infty} \frac{na_n}{a_{n+1}} \cdot \frac{\sqrt[n+1]{a_{n+1}}}{n} \cdot \frac{n+1}{n} = \\
&= e^2 \cdot \frac{e}{2a} \cdot \frac{2a}{e^2} \cdot 1 = e \\
\text{Hence, } \lim_{n \rightarrow \infty} \left(\frac{(n+1)^2}{\sqrt[n+1]{a_{n+1}}} - \frac{n^2}{\sqrt[n]{a_n}} \right) &= \frac{e^2}{2a} \cdot 1 \cdot \ln e = \frac{e^2}{2a}
\end{aligned}$$

□

REFERENCES

- [1] *Octagon Mathematical Magazine*, 2015-2019
- [2] Romanian Mathematical Magazine - Interactive Journal, www.ssmrmh.ro
- [3] Mihály Bencze, Daniel Sitaru, Marian Ursărescu, *Olympic Mathematical Energy*. Studis Publishing House, Iași, 2018.
- [4] Daniel Sitaru, George Apostolopoulos, *The Olympic Mathematical Marathon*. Cartea Românească Publishing House, Pitești, 2018.
- [5] Mihály Bencze, Daniel Sitaru, *Quantum Mathematical Power*. Studis Publishing House, Iași, 2018.
- [6] Daniel Sitaru, Marian Ursărescu, *Calculus Marathon*. Studis Publishing House, Iași, 2018.
- [7] Daniel Sitaru, Mihály Bencze, *699 Olympic Mathematical Challenges*. Studis Publishing House, Iași, 2017.
- [8] Daniel Sitaru, Marian Ursărescu, *Ice Math-Contests Problems*. Studis Publishing House, Iași, 2019.
- [9] Mihály Bencze, Daniel Sitaru, Marian Ursărescu, *Olympic Mathematical Beauties*, Studis Publishing House, Iași, 2020.
- [10] Daniel Sitaru, *Math Phenomenon Reloaded*, Studis Publishing House, Iași, 2020.
- [11] Daniel Sitaru, Marian Ursărescu, *Olympiad Problems - Algebra - Volume I, II* Studis Publishing House, Iași, 2020.

MATHEMATICS DEPARTMENT, NATIONAL ECONOMIC COLLEGE "THEODOR COSTESCU", DROBETA
TURNU - SEVERIN, ROMANIA

Email address: dansitaru63@yahoo.com